1a. Using A* and h1 = number of misplaced tiles

GOAL                                     START

1 2 3                                           2 8 3        f=4

8    4                                           1 6 4        g=0

7 6 5                                           7    5        h=4



2 8 3

   2 8 3

     2 8 3



1    4                   1 6 4

     1 6 4



7 6 5                      7 5

     7 5

1b. Using greedy search and h2 = sum of city block (Manhattan) distance of misplaced tiles

GOAL                                     START

1 2 3                                           2 8 3        f=5

8    4                                           1 6 4        g=0

7 6 5                                           7    5        h=5



2 8 3

   2 8 3

     2 8 3



1    4                   1 6 4

     1 6 4



7 6 5                      7 5

     7 5

